Hehterd et - 11, (2013-2014)
SUMMATIVE ASSESSMENT — Il
MATHEMATICS / TifuTe

Class — IX / &t - IX

feutfia v :3-3% gue Sfureran 3tk : 100

Time allowed : 3-3% hours Maximum Marks : 100
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(v) g e At )

General Instructions:

(i) All questions are compulsory.

(i) The question paper consists of 32 questions divided into five sections A, B, C,D and E.
Section-A comprises of 4 questions of 1 mark each, Section-B comprises of 6 questions of 2
marks each, Section-C comprises of 10 questions of 3 marks each and Section-D comprises of
11 questions of 4 marks each. Section E comprises of one question from Open Text theme
of 10 marks.

(iii) There is no overall choice.

(iv) Use of calculator is not permitted.

@Us-31 / SECTION-A

Page 1 of 15



U &A1 184 H YA® I 1 3F B

Question numbers 1 to 4 carry one mark each

1 afz fag (3, 4), Wok TfEr 3y = ax + 7% oeE W g B, A a % WA W@ Hif 1

If the point (3, 4) lies on the graph of linear equation 3y = ax + 7, find the value of a.

2 faw T x -2 = 0 fFg o1 & TR 27 1

Linear equation x —2 = Qs parallel to which axis ?

3 AABC &1 89%d 14 cm? § 1 9f 41 BC %I ufert AD €, @ ar (AACD) M &g | 1
Area of AABC is 14 cm?. If AD is median to side BC, find area (AACD).

4 T ¥ o SER ! 591 7 m 3 S 12 m & o) $6% S7eR 891 1 Geho Hieg | 1

Calculate the amount of air inside a conical tent with base radius 7 m and height 12 m.

EUE-o / SECTION-B

U9 HEAT1 59 10 § Uieh R 2 30k © |

Question numbers 5 to 10 carry two marks each.

5 et =gy EFGH ¥, ZEHG I <HGF @1 f1 8, ZGFE=70° 991 HELEF 81 EHG 3R 2
<HGF % TT9 91q iy |

In a quadrilateral EFGH, ZEHG is thrice of «<HGF, ZGFE=70° and HELEF. Find the
measures of ZEHG and £ZHGF.

6 uF Tt o gRfyer foig o 135° & v i & FIFC 2

Construct an angle of 135° at the initial point of a given ray.
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7 & g aTpfa #, AB 3R BC 3% O ¥ Tmgwey 1 Sian €1 fag IS fF ~ABC 1 BO wnfgwifsa 2
Exci

C

In the given figure, AB and BC are two chords equidistant from the centre O. Prove that BO
bisects ZABC.

B

C

8 T ] 1 7S T A9 4.2 cm T AT UG 1 oA 8.9 TH Ul e ®, 1 € 1 goawH 91d hifeg| 2

The diameter of a metallic ball is 42 cm. If the density of the metal is

8.9 g per cm?, find the mass of the ball.

9 g faenl &1 20 R 3BT TN YA% 9R f9q 3 W 39 foren o 2
0,1,1,2,0,1,2,0,0,1,2,2,0,2,1,0,1,1,0, 2.
1 sliwel & foau aRewrar grelt TEY

Two coins were tossed 20 times. Each time the number of "Heads" occuring was noted down
as follows :

0,1120,1200,1,2,20,2,1,0,1,1,0, 2.
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Prepare a frequency distribution table for the data.

10 T T H fauE el § Ishfi i gh W w39 WER @ 2

Tefas aret A B C D E F

et T il Hem | 75 55 37 29 10 37

yifaehar A wife fe St T8 9l & 9w
(i) 30 @ aifees iz &
(i) 20 § =9 e 2

Given below are the seats won by different political parties in a polling
outcome of a state assembly elections.

Political Party A B C D E F

Seats Won 75 55 37 29 10 37

What is the probability that the party selected have
(i) more than 30 seats.

(ii) less than 20 seats.

Tug-" / SECTION-C

9 T& 11 W 20 H TS 1 3 3F 2

Question numbers 11 to 20 carry three marks each.

11 o 9w § o & fm frefafed § : wee fradieR &1 famn 10 5. @R 9 9w O
i & fau wfa el 8 = 21 @@ &1 T i y e @ ok wa o« s e,
o TF e ey fafean iR sHe sre et
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The auto fare in a city are as follows : For the first kilometer it is Rs. 10 and for subsequent
distance is Rs. 8 per km. Taking the distance as y km. and total fare as Rs. x, write a linear
equation for this and draw the graph. Also find the fare of 15 km.

12 3

w fa= %amé,mmmwzﬁwﬁmw%aﬁxaﬁsaﬁmm
S 21 39 frarfa & ) =R o Paw wiew & w9 A fafew w1 sw o 3| s

A fraction becomes %when 2 is subtracted from the numerator and 3 is added to the denominator.

Represent this situation as a linear equation in two variables. Also find two solutions for this.

13 ABCD & =gds % fas fawl AC @k BD , WeR O W ¥fg=e & &1 4 ar 3
(ADOC) =ar(AAOB) %, 1 &¥115T fF /BDA = /DBC 1

o

D C

>

)

ABCD is a quadrilateral with diagonals AC and BD intersecting at O. If
ar (ADOC) =ar(AAOB) ; show that ZBDA = ZDBC.

5

>

)
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14 ASTU @t T shifere af geent il misil o1 AT 11.4 cm 3T STHR 107 45° 338 120° F | 3
Construct ASTU if sum of the three sides is 11.4 cm and base angles are 45° and 120°.

15 T gfgarg st @t T wifs, et TEE Y152 cm ©1 3@ TR @ Fol % aafgaes 3
difee | 37 ST w1 afaedes fig el w feom €
Construct an equilateral triangle of side 5.2 cm each. Now construct angle bisectors of any two
angles. Their intersecting point lies where ?

16 & g oRfd §, O 91 1 g & G LBCO=50°81 A OD & TR BC TAMAM LBC &, @ x 3

ﬁ?yﬁlﬁaﬁﬁﬂ'ﬁl
A

O is the centre of a circle in the given figure and ZBCO=>50°. Find x and y, if BC is parallel to
OD and AM 1 BC.
A

50°

17 Uk 3 ABCD % faaof O W ufawsg &t €1 afs L0AD=68° %, @ #BOC 3 ®ifw | 3

The diagonals of a rectangle ABCD intersect at O. If ZOAD=68° , then find £BOC.
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18 T I & AR 1 S0F 1.4 m 3R A8 2 m 1 I8 15 9Fd § fonde1 S%el A=A (Her)
FOTI (wzg?ﬁﬁm)

The diameter of garden roller is 1.4 m and it is 2 m long. How much area will it cover in 15

revolutions (7= % )

19 FeT IX & 40 faafeat & s &% 7 & an ¥ frefafee awe €

e, S, A, S, AH, WEd, WEd, W, FoeR, S, Sad, TR, w98, 94, 4,

fogr, 7, SeR), fogmr, S, fogmr, foaer, A€, Sad, Jorer ) oF fornedt agfe® w0 |
T A | SR Wfeear s it o g gu freneft w s

() A WEN H g e |
(b) S H TER A T AR
Following is the data about the months of births of 40 students in class IX:

Feb, Jan, July, June, March, Feb, Feb, Feb, Nov, Jan, Jan, Dec, May, June, June, July, June, Nov,
Dec, June, July, June, August, Dec, June, March, July, July, June, Dec, Sep, March, Jan, Dec,
June, Dec, Sep, March, Jan, Nov.

One student is chosen at random. Find the probability that the student chosen :
(a) Was born in the month of June.

(b) Was not born in the month of June.

20 freafataa gom & for, Ta anRarar agyst &t (fom1 sTaafes &) = i |
it oz SRR
5 3
15 15
25 12
35 18
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45 9

55 3

For the following information, construct a . frequency polygon
(without histograms) :

CLASS-MARK FREQUENCY
5 3

15 15

25 12

35 18

45 9

55 3

TUS-T / SECTION-D

9 G&A121 W 31 H % 1 4 37k € |

Question numbers 21 to 31 carry four marks each.

21 e fqu et W < g8 sl & gt fafae ) e o B o enwa ot 9 st 4
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P

Write the equations of the lines drawn in the following graph. Also, find the area enclosed between
them.

K
o]

Ko
- P W

—i3-2 11434

22 3y 9 € fop fordt fife R armmen = st =9 fis & Scouel gU R0l & STISRATUNT BT B sW 4
fearfq &1 =g A F T, wew Tt fafay asm 31eR 5, 9 y-3787 T 3R 07 x-3787 T T T,
g et F oo wifew | O &, el i o 20 3 1 9761 9 W 39 @R o 9|
IS |
You know that the force applied on a body is directly proportional to the acceleration produced in the

body. Write an equation to express this situation and plot the graph of the equation, taking constant
as 5, force on y-axis and acceleration on x-axis. Also, find acceleration produced in a body, if force
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applied on it is 20 units.

23 Teh STFTEehtl R HaE 7 SR’ T g i SR W AERI R T o) gHe AR BeeRr 4
&, et fomurd 4m, 4m 3R 5m &1 3@ B &1 @ HifSy, f5ed 919 ) m % @E W em o
AT | 59 T | 9 & TR B A A e ST @8 ?

An awareness slogan “SAY NO TO SMOKING” was displayed on one of the walls of the
flyover. It is of triangular shape whose dimensions are 4m, 4m and 5m. Construct the above
triangle by taking dimensions as ‘cm’ in place of ‘m’. What values are depicted to the people
of the country with respect to this slogan?

24 FHRT T 4
(@)  22.5° % IV ! T B ST AR ! T § ki ST Tehell B 1
(b)  AABC &l W1 Hva 77l 8, A€ BC=7 cm, /B=45° 3R AB—AC=10cm 2|
(c)  ®oR IR THR FY T ¥ 67.5° % HI0T & T 1 ST Hewelt § |
(d)  ADEF &I W1 994 8, af€ EF=55 cm, ZE=75° 3R DE-DF=2cm ¥ |

Give reasons :
(a) Construction of an angle of 22.5° is possible with the help of ruler and compass.

(b) It is not possible to construct a AABC, given that BC=7 cm, £B=45° and AB—-AC=10

(0 We can construct an angle of 67.5° using ruler and compass.

(d) Construction of ADEF, if EF=5.5 cm, ZE=75° and DE — DF =2 cm is possible

25 ABCD W& & 1 ABWR fig M 30 TR 2 ff AM=MB &1 ST AD 3R sigé " CB R fig p 4
HRQ T ¥R € fF CM L PQ ® | J¥MET ar(ACPM) =ar(A CQM) &1
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Q

ABCD is a square. M is the point on AB such that AM=MB. P and Q are points on sides AD
and extended CB such that CM L PQ. Show that ar(ACPM) =ar(ACQM).

D C

P

A M B
Q

26 @@ s = o e w fafer

(b) F1 AABC &t T9H1 € Thell §, Afe BT 1 it 11 em 3R ST8R 107 £A
=60°9 /B =70° T

(©) F1 AEFG %! T 499 8, A EF+FG+ GE =11 cm, £E= 105° 3R £F =
90° B

(d) M AXYZ F WA Evg B, afe o 125 om, 2X= 75° @R
ZY=30°%|

(a) State Angle Sum Property of a triangle.

(b) Is it possible to construct AABC if perimeter of the triangle is 11 cm, base
angles ZA =60°and £B =70°

© Is it possible to construct AEFG, , if EF+ FG+ GE =11 cm ZE= 105° and
ZF = 90°
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(d) Is it possible to construct AXYZ if perimeter is 12.5 cm, £X= 75° and LY = 30°

27 7 cm T 916 T SEATFER 98T 2.5 km/ hr F TR TH 38 FL TH STEAAHR SF A o @R,
et o 25 m 3R e 22 m B $F F ofw B | w1 aa fRa S S8 W@ ?

Water is flowing at the rate of 2.5 km per hour through a cylindrical pipe of radius 7 cm into a
rectangular tank of length 25 m and 22 m width. In 5 hrs how much is the rise in level of water
in the tank ?

28 Ueh SR 3o i a1 & UM @ 1.4 foret ufq Sve @t x & s a1 afg 3 w1 v § 28 e
o, 1 S % TR ) T YRR # 9 wife )

A cubicle water tank is filled by tap water at the rate of 1.4 litres per second. Find the length of an
edge of the tank in centimeters if the tank is completely filied in 28 minutes.

29 U o I e AR e # 4 3 w0 UM § qUT SRT SHAE 550 cm ¥ ST W gHEA! GAR
(etat 3l fasfwdl wfeq) o g9 1 @ 6.60 T Wwfa of "2 A 5082 % ¥ AL &t A= 39K
<TeE A6 Hitaw |

The length and breadth of a hall are in the ratio 4 : 3 and its height is
550 cm. The cost of decorating its wall on diwali (including doors and windows) at Rs 6.60 per
square metres is ¥ 5082. Find the length and breadth of the room.

30w wan H 60 faenfelal ®1 Weg WR 40 kg 1 TR H AEE 9R S0 kg ¥, TEH AEA H
30 kg B1 e | wTgwh AR wgiHAl F gEA T ity

{a) The mean weight of 60 students of a class is 40 kg. The mean weight of boys is 50 kg,
while that of the girls is 30 kg. Find the number of boys and girls in the class.

3 frafafeq afoar 4 fedt fouem = fom /W & X &&80 & 40

forenfelal & =1 =1 Ae <A T R
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farenfefal’ =t W

{11111 7“5171%4
3

afy ww fammeft &1 wg=sa g1 WU, @ WiERA 9@ wifae fe faet @

SIFH—

(a) 3Mfer & arg o9 o gam 21
(b) 31 feog ot W ® gam 2
(c) 30 o et Ae ® gan R

The given table shows the month of birth of 40 students of class IX of a
particular section in a school.
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Month of Birth | Number of StudentsT
January 3
February 4
March 2
April 2
May 5
June 1
July 2
August 6
September 3
October 4
November 4
December 4
If one student is chosen at random, find the probability that the student is
bom :
(a) in the later half of the year
(b) in the months having 31 days
(c) in the month having 30 days

WUS-T / SECTION-E

(<H 9TS /Open Text)
(* Please ensure that open text of the given theme is supplied with this question paper.)
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32

Theme-! (Planning a garden) (3+4+3)

(a) ST o THA H I FATH a0 FT & AT HI0C orerd qae EICE I
g1 29 g & forw 349 Y Fiwg oft s fivm)

(b)  3IH FHY FT A F T wefima forfere, fmss v w9 #1 [deis (70, 0) 2
(c) T UF g u¥ gET &1 ITAwAT [ra Fiforw % a7 S uy wadt g, EE

(i) x- 3T&T 3 FHETET Bl

(ii) y- =1&7 & THTAET 2

(a)  From the layout plan of garden, find the area of the circular ring  in  which
maximum plants are shown. Also find the costof =~ compost for this ring.

(b)  Write linear equation of the walls of room which has coordinates of one corner
as (70, 0).

(c)  Eshais standing on a footpath. Find the probability that she is standing on
a footpath which is

(i) parallel to x-axis

(ii) parallel to y-axis

-0000000-
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